: Warm your brains up thinking
| about the following questions:

> 3

Warm Up Challenge

Circle the triangle that is a reflection of triangle X.

rh

Tick the triangle that is a translation of triangle X.

Week 5 — Home Learning
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Understand the meaning of the word area

Find the area of this rectangle by counting squares.

Area = squares
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Understand the meaning of the word area

These shapes are both 5 squares long and 4 squares high.

What is the area of each shape?
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Count whole and part squares

Guess which shape is bigger.
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Check your answer by carefully working out the area of each shape.

Area
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Calculate areas of rectangles using square cm
and square m

Find the areas of these rectangles (drawings are not to scale).

6cm P 4m >
<€ >
A A
dem
3m

v f

v
Area = cm? Area = me<
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Calculate areas of rectangles using square cm
and square m

Find the areas of these rectangles (drawings are not to scale).

10em
Tm < >
E3 >
A A
5m
6cm
v

W

Area = mée Area = cm®

Check you' ve written the units correctly



Use the formula for finding the area of

triangles

Find the areas of these triangles using the formula:

Area of a triangle = base X height

2

5m

12m

6cm
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Practice time

Find the area of each shape. Don't forget to write your units.

Tem
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3m
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Practice time

A table cloth is 3m wide and 5m long.
What is the area of the table cloth.

Which of these numbers of squares can't be arranged to make
a big square? Circle the answer.

49 16 = 100 8 9
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Spot the mistake

What is the area of the shape?

— 5cm —— q18=72
~-|—-:h::rr|—---Jh 6“L-=2L_
72 +2[,.=Y96cm?

8cm
6CM

- cm >



